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CLOUD COMPUTING
fufia g . 3 W) [Tt 37 : 60
Time allowed : 3 Hours| [Maximum Marks : 60
Pz, (i) eA-rEAAdHEEAY AeaHE
Note : There are THREE sections in the paper A, B and C.
i) AT A g dear 1 F Wt 10 ¥ & I Al | S T O 3 F1 8 0
&t 10 77 FEGIE TR & T % 8 |

Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

i) QFwT & % 8 ¥ 4 4 [HE1 6 gl & I e | 5% 99 3 & FTR TG
3737 5 % / 50 FGH 7 I AT |

Answer any 6 questions oul of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QEAH 6 yoi 4 8 f& 4 gt % I T | FedH 99 8 3H F BT
77 15 EE / 150 WG 4 3ot e |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

v) mm%mmwm@mmﬁm;

Solve all the questions of a section consecutively together.
(vi) ﬁ#wﬁﬁmﬁ##@ﬁﬁaﬁﬂmﬁm? /

Only English version is valid in case of difference in both the languages.

JaH —
Section — A
L@ mﬁﬂﬁmwmmﬁmwmm%?
(a) SaaS (b) PaaS
(¢) laaS (d)

Which of the following service provider provides the highest amount of builtin
security ?
(a) SaaS (b) PaaS

(¢) laaS (d) Allof the mentioned
ﬁ (1of4) P.T.O.
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SAN %1 $el ®iH

(a) Storage Area Network (b) Security Area Network
(¢) Switch Application Network (d) 39 9 H13 AET

SAN stands for .

(a) Storage Area Network (b) Security Area Network

(¢) Switch Application Network (d) None
fferfiaa o &, ®17 Fei3g & 919 $etewH & foru Sfigams wem w2 7

(a) TN (b) wATEE

(c) FATEE HRZFAT (d) u=tthIE

Among the following, which provides the GUI for interaction with the cloud ?
(a) Server (b) Client

(¢) Client Infrastructure (d) Application

Frefafaa o & #\5 i Fomse Fagfén & & w2 7

(a) Service-as-a-Software (SaaS) (b) Software-and-a-Server (SaaS)
(¢) Software-as-a-Service (SaaS) (d) Software-as-a-Server (SaaS)
Which of the following is a type of cloud computing service ?

(a) Service-as-a-Software (SaaS) (b) Software-and-a-Server (SaaS)
(c) Software-as-a-Service (SaaS) (d) Software-as-a-Server (SaaS)

frafafEad a s @ ERa A 2 7

(a) UFHZEE (b) zrSfewm

(c) Hifem dam (d) s

Which of the following is not a cloud storage ?

(a) Xdrive (b) HardDisk

(¢) Media Max (d) Strongspace

FATIE H[N & HeH 1 PaaS 1 0 &9 #4127

(a) Payment as a Service (b) Platform as a Service

(¢) Performance as a Service  (d) Protocol as a Service
In the context of cloud computing, what is the full form of PaaS ?
(a) Payment as a Service (b) Platform as a Service
(¢) Performance as a Service (d) Protocol as a Service

(vii) Tr=fafiaa d 8 #17 =t awies T3 FYn wiewd & 8 @ Fd 2 7

(a) IS (b) wE3IAT

(c) Prewagfm (d) 3T gt

Which one of the following technology works behind the cloud computing platform ?
(a) Virtualisation (b)y SOA

(¢) Grid Computing (d) All of the above
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(viii) affa Fifdre snfdeaa 3 an A Frefefad 3 @ # @ w w@ @ 7

(a) e S @ SwarT fee fan fafi= fasraat & s F d= ST
HIEH-JEH F9d 2 |

(b) uE Hied e % w0 § Wi @ HEGEIAE HHYA YEH Hl 2 |

(¢) afdm snfuge snfheaa oferha i #g Ufeerhe % feru Ha1 & ¥4 § 39
0 I FAfa g R | :

d) (@) 3 () T

Which one of the following statement is true about the Service Oriented

Architecture ?

(a) It is possible to exchange data between applications from different vendors
without using additional programming.

(b) It provides computational resources on demand as a metered service.

(¢) Service Oriented Architecture allows using the application as a service for

other applications.
(d) Both (a) and (c)

(ix) ﬁmﬁ#ﬁaaﬁéﬂqmmmﬁm(mﬁ)aﬂtﬁqmmm%?
(a) Toeew BgwEaEEs (b) BRI EFHATIH
(c) TIHATEITH ERTEEH ()  ETSIR FFIEAEH

Which one of the following given program provides the isolation (abstraction) and
partitioning ?

(a) System Hypervisor (b) Software Hypervisor

(c) Virtualisation Hypervisor (d) Hardware Hypervisor

(x) o 1§ 1 =1 SR & S ad e Wi ) HE a2 7

(a) A (b) EEHATEH
(c) diwmum () (b) 3 (c)
Which one of the following is a type of software that supports the virtual machine ?
(a) Kemel (b) Hypervisor
(c) VMM (d) Both(b)and (¢c) (1x10)
Yo — ot
' Section - B
). FerIE Hefen #1 R 7 g6 o fefe |
What is cloud computing ? Write its benefits. (3)
3. aﬁmﬂﬁmwmﬁ 7 fafigw |
What do you understand by virtualization ? (3)
4. wrifae aer3s #1 Aa1 2 7 3% oY Fared |
What is a hybrid cloud ? Give its advantages. (3)

P.T.O.
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10.

11.

12.

13.

14.

15.

FT3e Fogfen § ufifye $ft forom Fn A 2 7

What is Asymmetric key encryption in cloud computing ? 3)
g cae wittiz & 319 #1793 2 7

What do you understand by Service Level Agreement ? (3)

FIRYLETEH 1 Bl 2 3N EEHETgSR fohe YR & &1d & 7
What is hypervisor and what are different types of Hypervisor ? (3)

SLA Wayg= ufekan @1 8idi @ ? |9esy |

What is SLA management process ? Explain. (3)
Fer13e guen fesme & gerya fagia #=n 2 7 faflaw |
What are the fundamental principles of cloud security design ? (3)
T -

. Section - C
HIEUUwH (laaS) #9127 36 Hed wETagA %1 fua wfed awzmu |
What is laaS ? Explain its reference implementation with diagram. (8)
FeT3e Segfen # fafu= guen getfaai @ & 7 wwsmsy |
What are various security challenges in cloud computing ? Explain. (8)
fafir= v & ad srergenm A 8 2 7 ferfigu 3t 33e avi # |
List and describe various types of virtualization. (8)
SLA % Sfia= 93 1 faxar & avf7 Sifsm |
Describe in detail the life cycle of SLA. (8)

Tt fa FenIe Fegfen Wenfiferat dmfe sEwam & fore w9 | gea am & 2 |

Explain what fundamental advantages does cloud computing technologies bring to
scientific applications. (8)

frafafiga w afira feofora fofen -
Write short notes on the following :
(i) fefses faamn
Digital Signature
(ii) TFTE FATIS B
Google Cloud Platform (4x2)
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